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F—F RHNPRNFBERBRITE

1.1 HAMITRE

1 (1) BB AI000KE60% (mol)N,-40% (mol) COMRAES Ik A %.
(2) HHFEARHBI0K FR)ISI0.-40% (FE) FeO-20% (FiE) AlO.M
#EAREZERMELRE,
(3) sk50% (FF)IBi-30% (FEIPb-20% (RE)ISnA&EMILH &F
M (1) BHRHBREAS
Cr np o =(27.874+4.27x107°(T/K)] J-mol~ 1. K™}
Cy co.s =[28.41+4.10x107°(T/K)—0.46x 10°(T/K)"*] J+mol~'.K™!
T = 1000K i,
Chr np.g =32.14 Jemol™' K™
Ch co.s =32,46 J-mol™1.K™!
BASEMHERRBED
Craw=S%,+Cp ;=0.6%32,14+0.4x32.46
=32,97 J.mol=1.K™!
(2) WEEES-EE (Naumann-Kopp) iF SR EBFHE. ERUTHRY
S FARFABC. #m, LMY THREIM. . BA, B, CHETFHEN e, B, Y. W
EF A RGRE T FRHHR

c =acz+b,8+cy
PrAansBbeCe ——_Mr
#RAENRFRRENEL-L
% 11
I E (o] 1| Si ! Fe ‘ Al Bi Pb Sn
1} .\”“__|
B HECy ((J-mol-' K-} I 16,74 15.90 izs.?s 26.78 | 26.78 26,78 15,90
|

etk EACRH At A tb i

C,, S!Oz_M:ZL:O.S‘ZB JeoTt K

60

26.78%[6.74=0_604 JegmieK-

Cr. Fed =

C». 1\1203=2X26'7§;—23 X 16'74=1.017 Jegmt.K™?

FREMLRE
Cran=0.4%x0,823+0.4%0,604+0,2x1.017



=0.774 J-g7}-K™'
(3) BeEEWTR F SRR TR, BRI (2) AEBA
Crenay=:5X26.78+0.3 % 26.78+0.2 x 15.90
AR F R (A )
=0.046 J-g7' K™}

il 2 R BA40% (FAHE)IAL0,-60% (RSO M iERBBAKSE,E S
HE1600°CHH il A Lh it

B OMSiO.-ALO, B (MBL-1) FHill, Z4 R # & & 20 21600°ChH #r B
312052810 MA L AR AR RS, BFE~RTH, 654 B H25/55M3A1,0,-

2810, F130/559H fHa, ifija xLifk AR 4L G 1EL 249296 (B B) Si0. -89 Ul #) Al:Os, BT LA,
b B IR A LLA

251 C 5,501 504-25:0 30 Cr.sins Cp.atgo
Cp= B Couuzonsia )4 30(g gpCausios 4 g gCrmios )
"7 55 Mriaaog.a50, 55 Mrsia, Mt 0,
R Cpunzogeasiog=[453.006+ 105.562 % 107°(T/K)—140.356 x 10°(T/K)~?
—23.376x 107%(T/K)*JJ)-mol"t. K!

2000 1— _}____..!____J__._

L 18—

—

| .»}
I B i
! Wi

1600 —— — 33 "
[ I

1400 s |

MO 20 40 &0 80 100
: O3 5i0; HURR) Si0s

E 1-1 Si0,-Al,0,=xE
T =1873K i},
Croantang-asin, =964.72 J-mol=t.K™!

Mriaigog1s10,=3x 102+ 2% 60=426
BrLA

?S(C_r-_ur_zoa-um)zga(:‘;MQ
35 55\ 426
Coumgo, = 144.86 J-mol=t.K™! | Mrayz0,=102

)=0.603 JegmtK!

M Taalatoge2aivg

Cp.s;02=85.772 J-mol~! 'K-I‘ Mrsin, =60

30 Cosion Cronzos \_30( 1 085772 144.333)
55(”'92 M rsic, +0'08MrM303) 55(0‘92 60 008140

=0.78 J-g'-K™*
1% RAEL600°CIR A b2k b

2



C.=0.603+90,78=1,38 J-g~' . K™!

1.2 Wyl A5 4 R i RE A A8 1 14 5L

1.2.1 HC.HEHItHS
ME—EF R, M208KEM B, MBI REGHT R A&, MHHT 4
AS® = aszmj ACPdT

318

MFE—CFE B, M208KERE R, mREHRAERYFISEMRER £, W #
A

T # »
AST=AST. +' “*C"dr+ AH: | [T"ACiar

T T lre T
A-H}" 5 ACr’d AHTN U
| TR T+ S

ztﬁhﬁm"* T*, TUHRS M R IR . & —iREEEN R RS, Tk
—F R, WP RS A AT IR R ALK, RPAH HERRIES, RS
f{){;
ﬁr_l 3 7E298~2000K RLE 4y B =¥y & A M1, I R BL Si0: + 2C. , = Si+ 2CO00, 3
E& 298KEfST~ 197.6 J-mol™'. K™, S§2,,= 18.82 J-mol™'".K"!, S§Tu=
5,74 J-mol™' K™%, S%,,=41.46]J-mol~t.K"!
W (1) HEKREESIO: cogn +2Cq,=Siq,+2C0 /£ 848 K i H 1 25,
ASTu=(25"+ S70)an— (252 + S30,) om
=(2x197.6+18.82) —(2x5.74 +41.46)
=361.08 J.mol-1.K"!

T E4B
E’ AS:a:AS-:sa'i'l”ACn;}:dT

HeF AC,=[-0.21—32.30x 107*(T/K) +23.39 x 105(T/K) 2] J -mol ! ‘K71,
(208~~848K)

4R
BiLL ASE=361.08+ L“EHO.21—32.3OX 107(T/K) +23.39 x 10°(T/K)~*] —'?l

=353.13 J-mol~t.K"?
(2) fEB48KAEK MY (a-F ¥ F-FHK), HMTHH
ASS*=1,42 J-mol~t.K!
ﬁi’f}zEZSfo:{ﬂ-Em +2C:.¢)=SI’:;\+2C0(9>E848Kﬂij’fﬂ]mﬁﬂj35l.71 J-mol-t KT

M AC,=[—13.56— 6.11x 107°(7/K) +12.47x 10° (T/K)"*] J-mol-t.K"1,
(848~1700K)

FiLL
ASTe. =351, 71+J (= 18.56—6.11 % 10~ (T/K) + 12.47 x 10° (T'/K) - 2)‘”"

3



=336.44 J.mol™!.K™!
I & R Si0sca.gm + 2C o = Sicor + 2C0» E1TO0K B (1 2E 336,44 J-mol™!. K™
(3) {£1700K, Sicy>Sic #4802 #i AL S*= 27,32 J-mol™".K™', ik R B
SiOscpzm +2Ce = Sicn + 2C0u » (£ 1T00K Iy 4572 4363.76 1 .mol=t.K
AC,=[3.18—34.56 x 10™*(T/K) +27.95x 10°(T/K)~*] J-mol™".K™!,
(1700~1734K)
Bt LA

1743 ]
AST.;=363.76+ (3.18—34.56 % 10~ (T/K) +27.98  10°(T/K)"*) %r_
L b R

=363,05 J-mol t.-K™
(4) {E1T43K, - R EMNT(B-THE>FA-AREA), HAH B AAS & v e
=3.56 J.mol™'-K™!, #KI SiOzp-sem +2Cur= Siwy+2C0w7E LTASKHH )i & 24
350.40] -mol~1. K1,
AC,=[~—21.38—2.22x 10" (T/K) +54.18 x 10°(T/K)™?] J-mol"t.K"!,
(1743~ 1990K)
_ REEL s - dT
AS‘fggnz339.49+]1743(#21.38—2.2% 107(T/K) +54.18x 10° (T/K)™ %) 7
=334.30 J-mol™t.K™! _
(5) fE1900KS-IReAEL, HELA
AlS§*=4.18 J-mol . K™!
S BESiOsa + 2Ce»= Si + 2C0w TE1990K B % 25330.12 J-mol™' . K™
AC,=[—20.92—0,33x 107 *(T/K) +17.15x 10*(T/K)~*] J-mol=t. K",
(1990~2000K )

o L1 R
ASTeos=330.12+ (—20.92—0.38 % 10~2(T/K) +17.15 x 10 (T/K)™?) (;T
Jo1ggo

=329.57 J-mol™'. K™
W4 —/hEAE S BHK TR H230°C, PR S I LA A
B2 Cpaee=20.92 J-mol=t. !
Croan 1=29.29 JT.mol=t K¢
& ki ST 1 = 1063°C, &ML LIS AL H = 12761,2 Jemol™l,
B BIE AR TR, E1063°C —~230°C=833°Cil b &% HE AL M 4 BAS A
SYEL F LA T BRI

AS:

Aug =522 5 Au
Y Tosseg > HHe!

AS,

T

| aS,
v

Auwm B_iﬂ_sjf-_*Au(“



(1) &R EE N8I3 TINRFI065C,
Aup833°C—> Aun1063C AS,
(2) fF1063°CIREL TR AR LS,
Aupl063°C—> Au,,1063°C AS,
(3) EEEMI063CHHB33C,
Aug,1063°C—> Au»833°C AS,
(1), (2), (3)FnfE B R HE R R,
Byl Aup7E833C—> Au  #833C (A
HoHAE AS=AS +AS.+AS;

X A= I CP(“ IT= ,(1336-2_!;_‘23“dT=5.52 J-mol-t.K=1
we T wes 1

AH, _ Ay H _ _ 12761.2 _ —9.55 J-mol=t.K™!

AS2= =R =336 1336

as = " dr [ 2092 47— —3,95 y.mol-t. K"

1336 T 1836
Bill AS=AS,+AS,+AS.=5.52—9.55—3.95=—7,08 J-mol~t.K™!
B4 E833°CT % M SR B R 15833°C, MIARBEMHEE

1 O W2
ASwn =g

ﬁ%ﬁﬁaﬁ»%ﬁ&aHzﬁHl'kﬂHz'l‘AHaq
R AH.,. AH.. AHERF (1), (2), (3)MRFEHK, WHUTEXHTRE

1336 1338

&Hl=[ Cm,d'r=[”29.29dr=ﬁ736.7 J-mol-t
1108 1o

AH,=—Ap. JH=—12761.2 ] -mol™!

3 (1108
AH&;["OCM,GFTZJ 20.92dT = —4811.6 J-mol~!

# AH=6736.7—12761.2--4811.6=— 10836 J-mol™*{k F& L1\ Jit sh it 5 T SRELAY T 74
B, WA 2510836 JomelT?,

10836 ;e
| =020 mol=1. 1
m ASuy= 1106 9.80 J- K

B?L‘)u -E\ H{Jm& = L\.Sﬁ;;f, -+ .’E.Smi_
= —7.984+0.80=1.82 J-mol~1.K™?
1.2.2 HBRSUHNEIATRIRERNHE

H AG=—z2FFE (1)
. a_A.G IE
B AS= zF%g— (3)



A z—— BB RS RES
F——ih i % 896500 C-mol™!;

T(j“’i[f bR R RERE, VKT,
1o B VE Ry
E.—E,
T.—T,

5 WIERBZne+ Tew  =ZnTeq 7387 CHIHEAS. 7£355~418CRH¥RLL T
Te-Zntgib:

70 1Z0Clas LiCly KCluy [Tew + ZnTew {6387 CHHHEMM B EIE £ =0.5703V,
dEdT=--0,61Tx107* V.-K™!,

B HbRR

AS= I F

Znin + Ten=2ZnTew

mmigas= :F(2E) | stz 2

B AS=2x 96300 0.0000617=—11.92 J-mol='.K™?
1,23 BEMNEHEITEEERE
Aake. M (>
AG®=--FTInK (2)
AG®= AH®—TAS® (3)
® (1), &R (2), & (3)BEkiges
€ _ Td!nKP
ase=R(T +1nK,) (4)

QLI%K.«iFquzﬁSII%T,fﬂTzE’JZF-ﬁﬁ&, HT;*HT?.*HE\E_Z:*H, ﬁ“ﬁ(4)ﬁﬁk

AS?=19.147(T—!95§:‘P—2:;19—&{{L +IagK_.) (5)

2 1

Bl 6 KEFMCOin+Hzwm=COu+H:0,E 1208 K HIAS™,
1350

B logK= —=— +1.36
.!",l' K
| {£1350K logK.=0.36
1298K logl{=0,32
1250K logk=0.28
-_ logK,,—logK,, [
a57=19.147( T e 4 ogK )
fRARR
. 1012 0.36—0.28
AST == 19147 X (1298><—1350__1250+0.32)

=96 J.mol t.K™!



1.3 BRAERKRmHH

1.3.1 BAREITNERR
1.3.1.1  [hkbesh 1 FE1L & P iR i
Ry, MWL E LA R e, FTLAR R Rtk b AR A ok R
B MBI, B E B, RAETE B A M B TR R R,
MR R IE., RN EREER, SR S0 S A Rk,
A7 E%]Al,,CamﬁﬁﬁEAcHn‘quI203«. CO. 4
AliCyer1+60200=2A1:030,+3C02 5 AcHac,=4332.1+31,4 kj.mol-!
2Alu;+3;"2Ozc91=4‘\12031sJanHa1203=‘—1673.6:I:6.3 kJ-mol-t
Cier 0200, =CO0z40» AjHco,=—2393.5+0.42 kJ.mol"!
RALC By R,
w Eﬂ]a‘:ﬁ.\]qcsz(2A(HA1203+3A1H602)—‘a.fHAuCg
FrLA ArH a1 g0y =28/ H p150, + 38; H oo, —~ AcH a e,
=2xX (—1673.66.3) +3 x (—393.54+0.42) — (—4332,1+31.4)
=—105.61+38.12k]-mol"!
1.3.1.2 hiEfEHH Bk A4 A ok
8 MgCLAYARIRA, H e, Wl R BRI RR AN B B 1, 2 &% 25C.
101.325kPalE i F '

Mg s+ 2HCliaor = MgCls cagy + Ha cor (1)
AH = —465.77+ 0.17 k]-mol™~!
MgCls e, =MgClan (2)
AH,=—152,9940.08 k] -mol~?
Hzw+ Clag, =2HCla, (3)

AH ,=—328,28%+0.42 kJ-mol™}
*MECIEE’U&ER.#&A! Huchz

B (1)—(2)+(3)8
Mgf:;+CIz(31:MECIZ(s) (4)
T£ AHuger,=AH ,=AH —AH , + AH
=—641,06+ 0.67 kJ-mol=t
1.3.1.3 MB TAHEMIEL SO ER K
B9 CME208KME FAERAERMT
(1) Baur=Ba"*q,AH,=—538.06 kJ-mol-t
(2) Clos,=2Cl"(o¢ ey AH»=—334,72 k]J-mol~!
(3) BaClio,=DBa® et ey +2C] "ty
AH3—=—13.22 k]-mol~!
J'ﬁBaCle@HEﬁRﬂA;HB.CQ
B X (D+R(2)—-R(3)8
Ba¢,+Clzipy=BaClra (4)



:F% .‘iH[iaqz:‘AH,=dH;+;-\H:"‘A[{g
=—538.06—334.72+13.22=—859,56 kJ.mol"!

B1 10 FIAF1-2MAE1-31HEMSO, Ca(OH) , fH: BB,
CU) B PO TR R I A B il M B 5

»1-2
® 7 (Mgt Lt | AP iFe" Niz* %Cu'—" cI- i|503' co;" [ OH-
ArHT, o/ (kI-mol '--.151.9| 42,7 !---524.?! - 87.9 -—54.!1? — 64,1 i—rﬁ?.a !—907.5 —676,1 |- 220,9
J i ! ] ! i |
(2) JRsedpiRife Kk FIEMgH
13
R ‘ MgSO, I[ CalOH), I Cacl, i NiSO, FcSO, FeCl,
—— y T —_—
(k}-mn‘?ﬁi”’f ‘ -91,2 ‘ —16.2 I —82.9 —80.3 - 64,9 —81.6
B (1) H3MSO, i, h&1-2/13K]-2
Mgi=Mg* wa.em (1), AH,=—461,9 kJ-mol~!
‘1“82({:‘!'1'202(9):SO!B_(.’:G‘.wi (2), AH,=-—907.5 k]-mol=}
Mgsoug}:I\"Igﬂlaw.oo)"'s sat_aq.aa: (3) ] AH3=‘_9]..2 k]'mol-l
o (D+& @Q)—=& (BOF
Mgu>+%52<9;+2022Mg504<n (4)
:.F'% AHMRS[)‘-__AH.‘:AHl'{_AHZ_AHJ
=~-1278.2 kJ-mol"!
(2) WHHCa(OH) My th, FHHm
Ca;,,‘—‘-Caz +(uq,<\=) ( 1. ) + A!I|=_512.7 ]{J'mol_l
Oae + Howy = 200H) " ag.em (2) . AH,=—459,8 k]-mol™!
Ca(OH):26,=Ca'dt ey +2(0H) Gy (3) , AH,=-—16.2 k]-mol™!
# (D+X @—-KOF
Ca 1+ 020+ Haoy=CalOH) 24s) ) (4)

AH oy =AH ,=AH  +AH,—AH ,
= —086,3 kJ-mol™!

1.3.2 HE4XEBIINLEDERR
B 11 RAgCl,, A350°CRH b e A Bl AL = Fabs o 4 R 3% A 7 B B fEAG™,

B AeClAER A

Wy

Agu v+ _'é_'CIZWJ =AgCIl!)



AR R R 5 it
Agml AgCIu\., HCIU 1 |CICEIOI.3k?a] £ Pt

i, B A
Aga,+ é Clyoy=Ag* + C1" = AgCl,
re __ __ - L df‘.“_ - -d_f.‘:.__ i
AF®=—2FFE +2FT"ZIT'_”(7 T E)
A Foo —ikBisBH ¥, 96500C-mol™!;
E® —fiifesh b 5%, Vs
z - -k R e 5
SRR bR R SR SR AL RN
E*®=[0.977+5.7%x107'(350—¢/ 'C)—4.8x 1077(350~¢/C)*] V (1
(120~450°C)
r & . "IE‘G_ - — —_
R AHm-uF(T—d—TT E*), z=1, T=623K
e dE® _ _ -
A (1) 4 5.7 %10
1 =350°CHAR (1), WE*=0.977V
BriA AH S =1 x 965000623(—5.7x 107¢)—0.977]

=—128.55 kJ-mol™!
AGEe=—2FE® = —1x096300x0.9877
=—04.28 kj.meol™’
1.3.3 MATHEYSEESXAXREENERA

oInK _ AH®
Hi 27 RT*
! g K _ __ _AH (1

o7 19.147(T/K)*®
WA T R, AHCEMLEIERSE, WX (1) |
T1 (K q) "_>Tz (K p)

B
ek — __AHT v 1
log k' —log Kz =57 (’f'zm TJK)
B (1) (ERER, 13
| e AHT
8K == 1K T

fﬂ%xmﬁ%ﬁﬁ&(%mkm,mﬁﬁ%$H$ﬁMP,ﬁMriﬁﬁ5Eﬂ£%m

%, mEL-2PR,



B 12 AEERERLU T REMAH®, HRAG*5THX R

! '5219: = HzS:s:

1_12(9: + 2

AW B r BE k14,

® 1-4
T
T/K ! 1023 1218 1362 1479 1667
(K w100 0,977 v.8212 0.7343 0.6789 0.5999
P | |
K ! 178 : 201 i 7.98 4,40 1.83
; . ,
logK L 2,250 . 1,305 ! 0.902 0.643 0.262
| |
z.0|[
1.
1.5
1.4
’ 1.2
% 1.9
Fo.s
0.5
0.
0.2
0
A 0.6 0.8 1.0
1/ T, K {1/ T x109)K
1 1
- 1 —— &R - Lo —
B 1-2 ogKﬁTijt% A& 1-3 gK%T!Kaéiﬁ

L‘J.logKﬁT—}K~fEEmEl—3, B, KB ERPENL.667x 10°HD

AT _ 4,667 x 10

T719.147
BriL AH®=-—89359 J-mol~t
$HAH™ =-—89359 J-mol='{& A
__ Ap=
loeK =g 1 T ¢
_ 89359
" logK = 19.147 (T/K) +C
LT =1362K, logK =0,902
KRALAHESH
= —_ 8939  _ _
C=logk 19.147 (T/K) 2.5
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89359
logfc = 89359
B R TRV R G SR

BiLA
AG™=—19.147(T/K)log K =--89359+ 48.25 (T/K)  I.mo!~!
1.3.4 (b3 BB R B9 i R
ME—LERE, M208K EXE—EE, MEEHEFERDREERER A, W &
B %

r T
AHT=AHM+ L“AC‘:dT-i- AH 7.+ L, ACYdT +AH v
+ j: ACHAT + AH ru-t wooree

RPAH  HHHERTEE, KEHHETRAS,
13 2EMAREH 3 £298~2000K, #ESi0; +2Cq, =Si+ 2COM A RAL™
ﬂ ( l) SI‘O:’_(a—Eﬁ,"‘ 2C::):Si(a)+ QCOtm
AFI%, =650612 J-mol-!
AC,=-0.21—32.3x107*(T/K)+23.39x 105(T/K)~? J-mol-'.K"!,
(208~848K)
AHEI=65[}612+{—0.21(T/K)"—%—x32.30x10"(T/K)‘
—23.39x 10°% (T/K) ™! L:

=645408 J.mol~}
(2) #848Ka-REHBL-HHE, HHBHAIH"=1213 J.mol-!,
Sio::q-ag;+2Cu)=Sitn+ 2C0(.¢n AH=|~_—645408 J-mol~t

+) SiOz(n-sm=SiOzw-L’§1 A;H=‘—1213 J+mol=1

SiOz(,ﬂ-E;;‘I' 2Cy=8Si,+ 2COwu AHaa =639776 J.mol-!

AC, =[—13.56—6.11 X 107*(T/K) + 12.47 x 10°(T/K)~*] J.mol='.K-
(848~1700K)
AH T =639776+ [ —13.56(T/K)—3,05x 10" °(T/K)?
=12, 4Tx 105(T/K) ™' i
=622339 J-mol~!
(3) 7E1700K, Sithik, Hixfbib
Ar FI*=46442 J.mol-!

S5i0z2p-s0+2Cu,=8iu,+ 2C0, AHT,,=8622339 J.mol™
+) Sie ) =Siq, A H® = 46442 J+.mol=t?
SiOzt,a-ag,‘i' 2C ¢, =Siyy+2C0 ., AH 5, =668781 J.mol~t

AC,=[3.18—34.56 x 107(T/K) + 27.95
11



x10°(T/K)™*] J.mol='.K~' (1700~1743K)
AFIT.,—668781+(3.18(T/K)—17.28 x 10™>(T'/K)*—27.95 x 10°(T/K) ™' Jith
=666400 J-mol™!
(4) 143K, B-REHBEHL-FAE, HHETERN
AH? exep-5am —=06067 Jemol™!

SiOzszm+ 2C L, =Siy +2C0w. AH ., =666400 J.mol~!

+) SiOzcp-vem =Si0z2p5m AH stz pam = —6067 Jemol™*
SiO0zp.55m+ 2C6,=Siy,+ 2C0.q, AH?T.:=660333 J.mol™!

AC,=[—21.38—2.22x107*(T/K)+54.18x 10°(T/K)~*] J.mol™!.K™!
(1743~1990K)

AH % =660333+ [—21.38(T/K)—1.11 x 107*(T/K)* —~54.18 x 10°(T /K) ! Jizia
=654415 J-mol™!
(5) #ZE1990K, SiOacpnsm H1L, HE{b i AA L H*® =8368 J-mol~!,

SiQzcp-msm +2C oy =Si¢y +2C0O ), AH T =654415 J-mol™t
+) SiO2a =5i10;2 (s-5zm Ar.H ¥ = —8368 J-mol™!
5102 1] +2C (€] '_—SI o +2CO [4:51 AH:‘SU:646047 ]-mol"‘

(6) @ T1990K L &IR B, WHASIO FHHRAEN
p=T1.13 J-mol~t.K"!
Ll AC,=0—20.92—0.33x107*(T/K)+17.15 x 10°(T/K) %] J-mol~*.K™!
(T >1990K)
AH 251000 = 646047 + [—20.02(T/K) —0.17 x 107 (T /K)*
—17.15%x 103 (T /K) ™' 3

# 14 1molS0O,50.5mol% (3924101.325kPa) KR, KI1000K. 101.325 kPafk

HTFBEHMSO-SO -0 R &K I H AR,

B4 so,m+~;-om,=som, AG™ = —04558 + 89.20(7T/K) J-mol~?
B G RPOEFERHAERmol SO, T

SOz + %Oz ) =50, >

- (5)
B En:(l—x)+(-;——%)+x=i_2—
BEERP/ P W
o
K= o [T V7™
S (p/p )°(3-—x) (;:)
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Bhp/1* =1, B

_*x@—z)”
K_ (l_z)m
HHEHB Kt=203—-2)
(1—x)3
o5kl
(1-—-K’)x2+(3K”-—3)x‘-*3K’x+K2=0
M r=0.463

it RBE, AspR1mol SO, BHiyA, *=—04558] -mol~', Bl A F{0.463mo0lSO,,
B, 58t R Rk
AH®™= —04558 x 0.463=—43780 J.mol-!

B 15 HERN 2Cy (,,+-;-om =Cu:0 > E25°C A 5 R 25,

Eéﬂ] 2Cucn+%’oz(g)=cuzo(n
AG* =[—169450—16.40T log(T /K) + 123.4(T/K)] J-mol~! (1)
) EEIAG*-:E-—169450—16.40><7.12T1n(T;’K)+123.4(T!K)3 Jemol™?
AG® _ 169450 _
B TIK T TT0 7.1210(T/K)+123.4
BT RS
a’_'f-\g) '
m [ LT /| _ 169450 _ 7.12
ar I (T/K)Y* (T/K)
AG*y T
B % {Q(T)J _ __AH®
ar b (T/K)?
Brid AH*=[—169450+7.12(T/K)] [-mol-?
{E25°CHt,
AHZ=—169450+7.12 x 208 = — 167330 J-mol-!
X (1) #HTRes
2AG® _
m— 7.12 712]n(T{’K)+123.4
=116.28—7.12[n(T/K)
AAG* T e
B % [ aTr _J.o_ aS
BiLL —AS*=[116.28—7.12[n(T/K)] J.mol-t.K-1
fE25C ASH=—116.28+7.12In298
=—-75 J~m0[_‘-K"
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